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QUESTION 1

You are asked to implement a monitoring and telemetry solution for the QFX Series devices in your IP fabric that uses a
push model to collect both system event data and statistical data for your QFX Series devices.

Which technology satisfies your requirements?
A. JunosXMLAPI

B. REST API

C. SNMP

D. Junos Telemetry Interface

Correct Answer: D

QUESTION 2

Referring to the exhibit, which two statements are correct? (Choose two.)

A. The local leaf is using the 192.168.100.102 IP address as the local anchor point of the VTEP tunnel.
B. The remote leaf is using the 192.168.100.102 IP address as the local anchor point of the VTEP tunnel.
C. The remote leaf is using the 192.168.100.101 IP address as the local anchor point of the VTEP tunnel.
D. The local leaf is using the 192.168.100.101 IP address as the local anchor point of the VTEP tunnel.

Correct Answer: AC

Latest INO-682 Dumps | JNO-682 Study Guide | INO-682 Braindumps 214


https://www.pass4itsure.com/jn0-682.html
https://www.pass4itsure.com/jn0-682.html
https://www.pass4itsure.com/jn0-682.html

. VCE & PDF https://www.pass4itsure.com/jn0-682.html
a 2024 Latest passditsure JN0-682 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 3

You are configuring an MX Series router to act as a Layer 3 gateway to route traffic between VXLANSs in different data
centers across a WAN connection. In this scenario, what must you do to enable this communication?

A. Configure route reflectors.

B. Change the UDP port used by the VXLANS.

C. Configure the IRB interfaces to connect the VXLANS.
D. Enable PIM on all interfaces.

Correct Answer: C

QUESTION 4

What are two streaming data formats supported for network analytics? (Choose two.)
A. GPB

B. XML

C. JSON

D. SLAX

Correct Answer: AC

QUESTION 5

You have deployed a VXLAN as shown in the exhibit Leafl, leaf3, spinel, and spine2 have been configured as VTEPs.
Host1 cannot communicate with host2.

Latest INO-682 Dumps | JNO-682 Study Guide | INO-682 Braindumps 3/4


https://www.pass4itsure.com/jn0-682.html
https://www.pass4itsure.com/jn0-682.html
https://www.pass4itsure.com/jn0-682.html

VCE & PDF https://www.pass4itsure.com/jn0-682.html
2024 Latest passditsure JN0-682 PDF and VCE dumps Download
PassditSure.com

spinel spine2

— —
A " — —3
—— . T

IP Fabric

P —P
— —
leafl |&—— & | leaf3
VLANID 100 VLANID 200
hostl host2
10.1.1.1/24 10.1.2.1/24

Referring to the exhibit, how would you solve this problem?

A. The VLAN ID on the connected to host2 must be changed to VLAN 100

B. A DCI connected must be created between the VLANs

C. Hostl and host2 must be placed in the same VRF

D. A layer 3 VXLAN gateway must be configured on at least on at least one of the devices

Correct Answer: D
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